mm

mm

15kg

3S B02D KT
2,000

372

22

3.

1




0.7m/s)

Om Om Im 2m 3m 4m 5m
3.5 1.5 0.5 0 0 0 0
(% 100 43 14 0 0 0 0
3.0 3.0 2.0 1.5 1.0 1.0 0
(% 100 100 67 50 0 0 0
) Om Om Om
) Om 100
) Om 100
1.4m/s)
Om Om Im 2m 3m 4m 5m
3.5 1.0 0 0 0 0 0
(% 100 29 0 0 0 0 0
4.0 3.0 2.5 1.5 0 0 0
(% 100 75 63 38 0 0 0
) Om Om Om
) Om 100
) Om 100
0.7m/s)
Om Om Im 2m 3m 4m 5m
5.0 1.0 2.0 2.0 2.0 2.0 2.0
(% 100 20 40 40 40 40 40
4.5 3.5 3.0 1.5 1.0 1.0 1.0
(% 100 78 67 33 22 22 22
) Om Om Om
) Om 100
) Om 100
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